

PRE-ENGINEERED STEEL BUILDINGS
HEAVY INDUSTRIAL STEEL BUILDINGS
MEZZANINE FLOOR BUILDINGS



170,KarukkampaaliRoad, Kullampalayam(p.o),Gobichettipaayam, Erode-638 476.







ABOUT US INTRODUCTION TO SSBS

Starlit Steel Building Solutions is one of the industry's recognised names for top quality in PEB and steel manufacturer in India. Manufacturing has changed dramatically over the years and with these changes, the requirements of manufacturing have also changed with qualitative and technical aspects. We believe that the efficiency of our team in designing, planning, manufacturing a wide range of steel structure solutions has made us a successfully completed above 1500 steel buildings since our establishment. SSBS's commitment in providing a great solution in pre-engineering buildings since our establishment. SSBS's commitment in providing a great solution in pre-engineered building with cost effective high quality material in short period of time. Our experienced and talented team work with our client to provide a solution with their needs. We have handles many complicated projects and landed it as a successful one.

ORGANIZATION AND MANAGEMENT



Mr.A.SATHIK BATCHA
Managing Director



Mr.S.ABDUL RAZZAK CEO



Mr.MAHABOOB BATCHA General Manager



MR.A.SAFIYULLA
Head of Marketing



MESSAGE FROM OUR MANAGING DIRECTOR



Mr.A.Sathick Batcha

s the Managing Director of Starlit Steel Building Solutions, I proudly address our dedicated team, valued clients, and esteemed partners. Our journey over the past 30 years has been marked by innovation, resilience, and a commitment to excellence in the field of preengineered steel buildings.

Our Vision and Commitment

At Starlit Steel, Our success is rooted in our unwavering commitment to quality and customer satisfaction. We specialize in crafting cost-effective, energy-efficient, and custom-designed building solutions that cater to the unique needs of various industries. Our experienced team is not just skilled in engineering but is also passionate about building long-lasting relationships based on integrity, honesty, and professionalism.

Embracing Innovation

In an ever-evolving industry, we recognize the importance of staying ahead of the curve. Our focus on innovation allows us to deliver high-capacity, efficient solutions that not only meet but exceed client expectations. We are continually investing in advanced technologies and methodologies that enhance our production capabilities and improve project delivery timelines.

Teamwork and Collaboration

The strength of Starlit Steel lies in our people. I am immensely proud of our talented workforce, whose hard work and dedication drive our success. Together, we foster a culture of collaboration and continuous improvement, ensuring that every project reflects our commitment to excellence.

Looking Ahead

As we look to the future, we remain focused on expanding our reach and enhancing our service offerings. We aim to be at the forefront of sustainable building practices, contributing positively to our community and environment. Our goal is not just to construct buildings but to create spaces that inspire growth and innovation. In closing, I want to express my gratitude for your trust and support. Together, let us continue to build a brighter future with Starlit Steel Building Solutions.



MISSION & VISION

Starlit Steel Building Solutions was established in 1988 in the sector of PEB. With an experience of Thirty eight years, we are providing our customers a wide range of customized, cost effective steel building solutions. We are proud to have an experienced team in our Starlit family, forty plus young employees, multiple talented designers and management team. We nearly cover four hundered tons a month.

MISSION

Our total commitment is to provide a one stop steel solution for a wide range of steel products to deliver superior quality with cost effective solution to our valuable clients.

VISION

We believe in our client's satisfaction by providing them a quality product at affordable price and outstanding service every time.





PRE-ENGINEERED BUILDINGS





POLYCARBONATE ROOFING SHEET







HEAVY STRUCTURAL CONSTRUCTIONS







SANDWICH PANELS









VENTILATORS







SOLAR PURLINS









APPLICATIONS OF PRE-ENGINEERED BUILDINGS

Pre-Engineered Buildings (PEBs) serve diverse sectors with adaptable, durable solutions. In industry and agriculture, they offer efficient spaces for manufacturing, storage, and livestock. Commercial and public infrastructure projects benefit from customizable layouts for retail, metro stations, and toll plazas. PEBs also suit sports facilities, aircraft hangars, and the energy sector, while providing cost-effective options for residential and institutional buildings like schools and healthcare facilities.

Industrial Buildings



Commercial Buildings



Public Infrastructure



Sports and Recreation





APPLICATIONS OF PRE-ENGINEERED BUILDINGS

PEBs offer cost-effective options for residential and institutional buildings, including schools and healthcare facilities, meeting diverse needs with structural integrity and adaptability. This combination of flexibility, strength, and efficiency makes PEBs a preferred solution across multiple industries.

Agricultural Buildings



Aircraft Hangars



Energy Sector



Residential & Institutional Buildings

























OUR PROJECTS



s.no	Site Name	Area	Total Sqft
1	SREE SANTHOSH GARMENTS	150' X 320'	48000
2	KNIT CARE	103' X 289'	29767
3	KGR PRINTING	176' X 131'	23056
4	SREE SANTHOSH GARMENTS	128' X 17'	21888
5	SHRI SAI TEX PROCESSORS	115' X 225'	25875
6	MEGA CARBONS PVT LTD	120' X 100'	12000
7	D-MART	102' X 272'	27744
8	AADINATH POLYWADDING	150 1/2' X 230 1/2'	34690
9	ADHITHYA SUBRAMANI(Raj Associate)	272' X 100'	27200
10	UNSOURCE(BIMA BUILDERS)	125' X 292'	36500
11	ADHAV PACKS PVT LTD	115' X 223 1/4'	25674
12	SREE SANTHOSH MEENACHI MILL	125' X 720'	90000
13	SHRI SHIVA SELVI TEX	201'6' X 104' 3'	21007
14	ORIYON NATURAL FALAVOURS PVT LTD	70' X 260'	18200
15	CHAKKARA PRODUCTION	148 3/5' X 223'	33138

OUR PROJECTS



s.no	Site Name	Area	Total Sqft
1	N TEX APPAREL PVT LTD	71' X 228 1/4'	16206
2	SAKTHIMASALA	72 1/4' X 277 1/4'	20031
3	BLUE CHIP KNIT FINISHERS	116' X 160'	18560
4	POPPYS MATTRESS PVT LTD	100' X 250'	25000
5	AHILL APPAREL EXPORTS PVT LTD	112' X 185"	20720
6	MOHAN MUSHROOM	600' X 140'	84000
7	MOHAN MUSHROOM	191 1/4 X 318	60818
8	ENES TEXTILE MILLS (RAMRAJ)	121' X 201'	24321
9	NEW PEACOCK	63' X 133'	67032
10	Mr.NITHYA BHARATH	142' 3/4 X 241	34403
11	AKSHARA SPINNING MILL PVT LTD	300' X 50'	15000
12	BHARATHI VIDHYALAYA SCHOOL	100' X 250'	21250
13	SRI SARAVANA MILLS PVT LTD	137' X 234'	32058
14	GOLDEN WIRE PRODUCTION PVT LTD	144' X 133'	19152
15	SELVAM PROCESSING PVT LTD	94' X 230'	21620



MEET OUR CLIENTS

















































































Contact Us

Headquarters:

170,Karukkampaali Road, Kullampalayam (P.O), Gobichettipalayam, Erode - 638 476



www.starlitsteel.com

<u>+91 9444</u>32 46030, +91 99942 85751, +91 99946 55221

www.starlitsteel.com